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Question 1

The physical count of inventory for its valuation is undertaken at the end of period is
G310 NHE TN (T NGS AV AT (S =

Question 2

The level of material at which a new order for materials is to be placed is
VGO (FI BLI AT NO® ¥ N (ST =T 2

Question 3

The most common method of inventory valuation is

Question 4

The Cost unit “litre” is used in
AT 9FF &0 ... - TITS =T |

Question 5

Bin card shows

RN TS AT =T

Question 6

Contract costing is useful in
SIS (I IO T ?

Question 7

Cost of production is equal to
Cost of production -9 o12f 7

Question 8

Cost sheet is prepared
AR OIfeTHT AF© A=Y

Question 9

Calculate the Economic Order Quantity (EOQ): Annual consumption-800 units, Cost of placing an order-Rs.100, Carrying cost of inventory-Rs.4.

EOQ f°T % : Annual consumption-800 units, Cost of placing an order-Rs.100, Carrying cost of inventory-Rs.4.

Question 10



Labour turnover is calculated by

(N NG OTS AN WG [T T =X 2

Question 11

Which is the source of information of overhead ?

(BN O (AT GATIATT ST FA1 2T ?

Question 12

EBQ stands for
EBQ -7 = ?

Question 13

Departmentalization of overhead is known as

TARINTL RO AT @F 61 =7

Question 14

Direct expenses are also called as
AT YIO(P 1 A

Question 15

Basic objective of cost accounting is

AIFCAT 2A1ANF BT =

Question 16

In Income Tax Act 1961, income is divided in Heads.

WTTHT 2N 1961 TP NT-C ...

Question 17

The Income tax act, 1961 came into force w.e.f.

ITFT W3, 1961 BF (IR

Question 18

Assessment year can be a period of
T LR I97 O M

Question 19

A person includes

G =

Question 20

Income Tax is charged in
P LR 41 =

O O FART |



Question 21

Income of business commenced on 1st March, 2019 will be assessed in assessment year
(T I3 1/3/2019 -4 ST Z(A Ol WAT SN I SRR

Question 22

Basic condition for Residential status has been defined in

RIS TR CFE T *FOREAT (T4 NCY

Question 23

Additional surcharge (health and education cess) is payable on

SRS AT (T2 932 FFT Cess) FIF BT WS =T 2

Question 24

An employee is in receipt of hostel allowance for his three children. The maximum allowance per year will be exempted under section 10(14) is
JFCH TG O &N G / FATI TG Hostel Allowance NN | T-T 10(14) -4 ©IF AT QTG AT =1

Question 25

In Income Tax Act, “Person” has been defined in
HAFT WRA VS (PN G I AR ?

Question 26

Maximum exempted limit in Leave Salary u/s 10(10AA)

11 10(10AA)CO Leave Salary -4 )15 RGN

Question 27

Maximum limit of deduction u/s 80C is
Maximum limit of deduction u/s 80C is

Question 28

Under the head salary, Professional Tax is deducted
(o QIO (FIN 11T Professional Tax MM (MSAT RY ?

Question 29

Interest on House Building Loan is deducted
(PN QIR 9= N Ty AR SO S B0 (RS 2T 2

Question 30

If bad debt is recovered, it will taxed as deemed income
PAY AN AE (A Ol (P LR [{ACS YAT AT 907 =7 2

Question 31



Process costing is suitable in

Process costing 19219 X3

Question 32

Contact costing is suitable in

Contract costing /919 X

Question 33

Batch costing is suitable in

Batch costing 1919 X

Question 34

Indirect materials used in production is known as
B AN IO AT FIOTNECP Jell Y

Question 35

Tender is an

R EICE R ES!

Question 36

Total of direct cost is known as

(6 2T I I =

Question 37

“No. of workers employed” is used as basis of apportionment of

'No. of workers employed' (F YN WG RIS AR FAI =Y ?

Question 38

is an example of semi variable cost

............ éRFi% semivariable AT

Question 39

Comprehensive Machine Hour Rate includes

Compensative Machine Hour Rate-4 1 X

Question 40



Abnormal loss and its value is

Abnormal loss 8 OT] JeT§ (MTTANT A

Question 41

Batch costing is used to determine

........... fNEfIg1 FIC@ Batch costing IIIR9 XJ |

Question 42

The basis for payment of cash by contractee under contract account is

Contract Alc-4 ............... -4 &89 Contractee WQfSﬂ'TW PAI

Question 43

Contract account is a
Contract Alc Q?F%

Question 44

Overhead cost is the total of
................ (q197k<T =T overhead cost.

Question 45

is not considered for preparation of cost sheet

Question 46
Section defines the assessment year
I NLRITIRA <..ccc...... YT el AR
Question 47

Rate of income tax is determined by

Question 48

How many types of persons as per Income Tax Act

Question 49

Section prescribes the different types of company dividend



(PN T .. IS IofT BT =

Question 50

Agricultural income is exempted under section

.............. AT R AW FIYS |

Question 51

is/are the example agricultural income

PR AT GAIRAY =T

Question 52

Long term capital asset is the asset which is transferred after months of its ownership

.............. T N TBTE FACE (I YALN! TS ALt Yeag=t 1S = |

Question 53

Residential status of an individual may be

& ROTTE WRIfSS T =20 *ma

Question 54

Section provides the residential status of a firm

.............. LI DA AT P RIS W1 [Refifde =7

Question 55

The value of perquisites is determined as provision of

Question 56

Short term capital asset has been defined under section

.............. YTATT FHCAAAL TeTL ST IR 1 =

Question 57

Recovery of bad debt u/s 41(4) is treated as

4T 41(4) SRITE PAY ANFFE 20 ©f A

Question 58

Maximum limit of deduction u/s 80OE

41T 80E A QTG S5 AR



Question 59

is/are example of taxable allowances

RESIRISINIET]

Question 60

Students scholarship is tax free under section

........... I AT Student scholarship I |



